4.8 Applications and Models

Examples: Solve the right triangle with angles A, B, and C with corresponding sides a, b, and c. Round
your answers to two decimal places. (C is the right angle.) &
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Example: The sun is 20" above the horizon. Find the length of a shadow cast by a park statue that is 12
feet tall.
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Example: A ladder 20 feet long leans against the side of a house. Find the height from the top of the
ladder to the ground if the angle of elevation of the ladder is 80°.



Example: A passenger in an airplane at an altitude of 10 km sees two towns directly to the east of the

plane. The angles of depression to the town are 28" and 55°. How far apart are the towns?
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Example: A ship leaves port at noon and has a bearing of S 29° W. The ship sails at 20 knots.

(a) How many nautical miles south and how many nautical miles west will the ship have traveled
by 6:00 PM?

(b) At 6:00 PM, the ship changes course to due west. Find the ship’s bearing and distance from
the port of departure at 7:00 PM.
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